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QUESTION NO: 1

Which of the following statements is/are right regarding CALCITONIN?

I- It secretion is normally stimulated during feeding, particularly of high calcium meals

II- Prevents hypercalcemia by inhibiting the transport of Ca intro extra cellular fluid and byincreasing the renal clearance of 
calcium

III- It is a vitamin D derivative

A. I only 

B. III only 

C. I and II only 

D. II and III only 

E. All are correct 

ANSWER: C 

QUESTION NO: 2

Pernicious anemia is:

A. due to dietary deficiency of vitamin B12. 

B. prevented by oral administration of a vitamin B12 supplement. 

C. treated by parenteral administration of folic acid. 

D. treated by parenteral administration of vitamin B12. 

E. caused by dietary iron deficiency. 

ANSWER: D 

QUESTION NO: 3

Mechanism of resistance of Invirase is:

A. Mutation of viral DNA polymerase 
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B. Mutations of viral protease 

C. Mutation of thymidilate synthase decreasing its affinity for the drug's active metabolite D. Tolerance 

D. Mutation of viral reverse transcriptase 

ANSWER: B 

QUESTION NO: 4

GLYCOGENESIS is a process characterized by:

A. The breakdown of glycogen into glucose 

B. The transformation of glucose to glycogen 

C. The breakdown of sugar into pyruvate 

D. The breakdown of sugar into lactate 

E. The formation of glucose from non-carbohydrates sources 

ANSWER: D 

QUESTION NO: 5

Class of metformin is: 

A. Lipid lowering drugs 

B. Antimycobacterial 

C. Thyroid agents 

D. Vasodilators 

E. Oral hypoglycemics 

ANSWER: E 

QUESTION NO: 6

Mechanism of action of indinavir is:
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A. beta-2 agonist 

B. Inhibits RNA-dependent RNA polymerase 

C. Inhibits reverse transcriptase 

D. Inhibits viral protease 

E. Stimulates lipoprotein lipase 

ANSWER: D 

QUESTION NO: 7

An enzyme is:

A. an oligopeptide 

B. a nucleic acid 

C. unable to hydrolyse polysaccharides 

D. a catalyst 

E. changed chemically in a reaction 

ANSWER: D 

QUESTION NO: 8

Class of cascara is:

A. H2 antagonists 

B. Macrolides 

C. Cathartics 

D. Analgesics 

E. Lipid lowering drugs 

ANSWER: C 

QUESTION NO: 9
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Indication of doxycycline is:

A. Bacteroides (other than Bacteroides fragilis) 

B. Asthma 

C. Meniere's disease 

D. Water intoxication 

E. Broad spectrum antibacterial agent 

ANSWER: E 

QUESTION NO: 10

Diazepam Injection U.S.P

Diazepam 5 mg/ml

Ethanol 10%

Propylene glycol 40%

Benzyl alcohol 1.5%

Water for Injection qs 100%

In the formulation given above, the following ingredient(s) function(s) as a cosolvent(s):

I ethanol

II propylene glycol

III benzyl alcohol

A. I only 

B. III only 

C. I and II only 

D. II and III only 

E. I, II and III 

ANSWER: C 

QUESTION NO: 11
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Gonorrhea, a sexually transmitted disease may be treated by which of the following agents?

I- Cefixime

II- Ceftriaxone

III- Ciprofloxacin

A. I only 

B. III only 

C. I and II only 

D. II and III only 

E. All are correct 

ANSWER: E 

QUESTION NO: 12

Class of tocainide is:

A. Thiazides 

B. Antiarrhythmic agents 

C. Cephalosporins 

D. Autonomic nervous system drugs 

E. Beta blockers 

ANSWER: B 

QUESTION NO: 13

The MOST well known characteristic symptom of asthma include:

A. Wheezing 

B. Mucosal edema 

C. Cough 

D. Chest tightness 
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E. Tachycardia 

ANSWER: A 

QUESTION NO: 14

Vitamin that requires an intrinsic factor to be carried out to ileum in order to suffer absorption from the small intestine:

A. Cyanocobalamin 

B. Folic acid 

C. Pantothenic acid 

D. Pyridoxine 

E. Niacin 

ANSWER: B 

QUESTION NO: 15

Colitis associated with antibiotic use can best be treated by:

A. Cephalosporins 

B. Macrolides 

C. Aminoglycosides 

D. Vancomycin 

E. Penicillin 

ANSWER: D 

QUESTION NO: 16

Which of the following statements refers to etidronate?

A. Binds to DNA, preferentially to GC pairs. Inhibits RNA, DNA, and protein synthesis. 

B. Human, pig, salmon, and eel calcitonins are available. 
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C. Is used for both therapy and prophylaxis of influenza A. 

D. Bioavailability increases with administered dose. 

E. Only approved by FDA for hypertension treatment. 

ANSWER: D 

QUESTION NO: 17

Which of the following amino acid is an important precursor of hemoglobin?

A. Alanine 

B. Proline 

C. Leucine 

D. Glycin 

E. Histadin 

ANSWER: A 

QUESTION NO: 18

Correct administration of Penicillamine in the treatment of rheumatois arthritis include:

A. With meals 

B. In emptying stomach 

C. With plenty of water 

D. With orange juice 

E. Before bedtime 

ANSWER: B 

QUESTION NO: 19

Class of pectin is:
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A. Analgesics 

B. Glucocorticosteroids 

C. Methylxanthines 

D. Antidiarrheal agents 

E. Antiarrhythmic agents 

ANSWER: D 

QUESTION NO: 20

Which of the following statements refers to foscavir?

A. Pyrophosphate analog 

B. Metabolism in liver is by glucuronidization 

C. Not shown to reduce sudden death or prolong survival. 

D. Inhibition of DNA gyrase results in: 1. Inhibition of bacterial replication 2. Inhibition of
DNA repair 3. Inhibition of expression of certain operons 

E. Non-nucleoside reverse transcriptase inhibitor 

ANSWER: A 
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